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The question paper is divided into four sections. Section A,
Section B, Section C and Section D.

The question paper has 26 questions in all.

All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 to 7 are very short answer type
questions. Each question carries 1 mark. Answers to these
should not exceed 30 words.




(vi) Questions from serial number 8 to 18 are 3 marks questions.
Answers of these questions should not exceed 80 words
each.

(vii) Questions from serial number 19 to 25 are 5 marks questions.
Answers of these questions should not exceed 100 words
each.

(viii) Question number 26 is a map question of 5 marks with two
parts — 26 A from History (2 marks) and 26 B from Geography
(3 marks). After completion, attach the map inside your answer-

book.
WUE-h
SECTION-A
1. 199 yramset & IR JAT | feleh &3 H IgRaTe 'q?rwwrﬁ%m
YT

A Tear & e frerra § HIARE! 3 dvrerm 6 e S

Interpret the concept of ‘liberalisation’ in the field of economic
sphere during the nineteenth century in Europe.

OR
Interpret the contribution of French in the economic development
of Mekong delta region. |

2. O H ETY ¥ DU h qhATR hd TR TS 7
HYar
gt wwiedl # SfgaTe WishA A Iu=IE il AR B AgH H FE
eI i 7
How had hand printing technology introduced in Japan?

OR
How had translation process of novels into regional languages
helped to spread their popularity?

32/1/1 3 [P.T.O.




3. oS H atfa g - fefiet & fow 358 soert 87
HAYAT
Hite 3Em - et & forg S8 saer 27
How is over irrigation responsible for land degradation in Punjab?

OR
How is cement industry responsible for land degradation?

4. TSHifes &9 @ gET TR S AR GUR Hat R 511 Tehd 27

How can democratic reforms be carried out by political conscious
citizens ?

5. e grfior werEdl o foTe It o o wey # foehra s wied /)
el 27
JraT
TSITel o B SR o1 foemme o1 e a2 gehar 27

What may be a goal of landless rural labourers regarding their
income?

OR
What may be a goal of prosperous farmer of Punjab?

6. ‘WUt g ‘facdiaes &meni § far ey R

Distinguish between ‘primary’ and ‘secondary’ sectors.

7. S 31T IYTETAT 0T & side) 2o UL =t T 91 o 87

Why do banks or lenders demand collateral against loans?

Q|us-d"
SECTION-B

8. Hdiferyd i fedr i wiEfElt fre & sref &t 3 for wepr @ fomam
17 IETEN Hied AT i

HAAT
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o &t anféfer wmifq & oo Romdier i smenett < Seewl aftg
=TT hifsg|

How had Napoleonic code exported to the regions under French
control ? Explain with examples.

OR
Explain with examples the three barriers that are responsible to
economic growth in Vietnam.

9. It TSt ford YRR o1l § e fsd Tl 1 we el Icares o
817 3R Afed =are Hifve| 3x1=3
FraT
9 ° IeAgell @t % SR 3w R R @il % foe gear @
3ueTed &l T8 A7 ISTEWN Afed saredT hifvg)

How had the Imperial State in China been the major producer of
printed material for a long time? Explain with examples.

OR
How had novels been easily available to the masses in Europe
during nineteenth century? Explain with examples.

10. ‘&t e =g’ A foredl oy ferwanati s oot iR 3x1=3
HYAT
“wlie v g i el i g femensti =1 aofa i)
Describe any three main features of ‘Rabi crop season.’

OR
Describe any three main features of ‘Kharif crop season.’

11. “rd # foemer R wedt sEe e ) gelsar w1 afomm & wwdt
21" 59 %y w1 faveryw Aifs Ix1=3

“Water scarcity may be an outcome of large and growing
population in India.” Analyse the statement.

12. ‘Tl Sremaifer <wr o wmiires fafimanatt v stk 31 v gy o1a @

3R Ty ot 71 wadt 217 i Afed 39 e 1 gy Aifv) 3
rerar
E5E
&
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gt foTe TeHifa Y g e 8177 T e Y v iR

“The assertion of social diversities in a democratic country is very

normal and can be healthy.” Justify the statement with arguments.
OR .

“Social divisions affect politics.” Examine the statement.

13. “'9Rd H AW % 91 @ Afensit f fufy § $o guw gan 2, wy
3eft oft qgeui @ Hrhl S 817 39 e 1 fawdive Hifvw | 3x1=3

“Women still lag much behind men in India despite some
improvements since independence.” Analyse the statement.

14. 9 H THifoes el 1 5w wor e @ e o & w9 § aea
forereht 87 Iemewon witq =amen fifvm| 1+1%=3

How are political parties recognized as regional and national
parties in India? Explain with examples.

15. “‘waierw § firree % ufom wwie oft e dmnett @ e e w1
$9 HY I ~ATAET SeT | 3

“Consequences of environmental degradation do not respect
national or state boundaries.”’ Justify the statement.

16. WA # ‘qeliae &% Wecaqul 941 81 @1 87 Rl i ron i sqre
it 3
HAAT
feret @91 % Heoher wteg 3ee (SLEdh.) J w F R fifdre ageil
3T AT 1 T 5 Y R &7 Sereor wfia T i
Why is the ‘tertiary sector’ becoming important in India? Explain
any three reasons.
‘ OR
How do we count various goods and services for calculating Gross
Domestic Product (G.D.P.) of a country? Explain with example.

32/1/1 6



17. felen e & =eor 3 o=l Gdl & weea &1 aui i) 3x1=3
HYAn
ST 0 % Bl T FSERI T IS ATt L THE] 1 Jui FIRf)
Describe the importance of formal sources of credit in the
economic development.
OR
Describe the bad effects of informal sources of credit on borrowers.

18. I9wieht o ‘afogfd framor’ o srfererr 1 3w R TR 9 A
7 JaTeTr Higd samen Hif| 3

How can consumers use their ‘Right to Seek Redressal’? Explain
with example.

@Ue-T
SECTION-C
19. 1930 ¥ fren 2fordi = efia o vy’ & anfeq frar? sgh
Iuafedrt s guiq fifsm| 1+4=5
7T

“afe Ira e’ vee o qftfta Sifvte) ‘afimw g sieeH’
H i o e foRam e it wrwfirar &1 gl Sifsm|

Who had  organized the dalits into the ‘Depressed Classes
Association’ in 1930? Describe his achievements.

OR
Define the term ‘Civil Disobedience Movement.” Describe the
participation of rich and poor peasant communities in the ‘Civil
Disobedience Movement.’

20. ‘Iegell sraredt st o sreleTaen &1 ®9 74 FA § WRAT SR 3 U
W&ﬁmwﬁsﬁ[’wmmﬁsﬁwﬁﬁm 5x1=5
Jrerat
‘sfielf sraTedt o TEe qTeh e W H SR F1 WEY E geamal
1 =Ue H 311 gt o119 HUA A1 frgervor i

= EEE
O £iim

o2 ) p; [P




HAAT

“smregfie et B STEeRT 3 Sl % TET T e Y9 STl 1
e o T dedf & 39 e ot foretwor shifsg|
“Indian trade had played a crucial role in the late nineteenth
century world economy.” Analyze the statement.

OR
“Series of changes affected the pattern of industrialization in India
by the early twentieth century.” Analyze the statement.

OR
“Industrialization had changed the form of urbanization in the
modern period.” Analyze the statement with special reference of
London.

21. wTE § 3an gaterer e ¥ fae frg yer R 27 3eEw
gfed Tz Shifse| 5x1=5

How are industries responsible for environmental degradation in
India? Explain with examples.

22. “‘qra § geF uiEed, Yo aiEed o e stfes glaasee 817 s
=t 3erE afed gie i) S5x1=5

“Roadways still have an edge over railways in India.” Support the
statement with examples.

23. feufd, sTehm afit wiefae deqell  SMuR W afesad 3 At i
fesrfe =t gemm shifsil 1+143=5
Jrora
Frrer =1 R 0 T STET? W €9 Yeford T sl g &
fafira eyt i =men FHiNg|

‘Compare the situation of Belgium and Sri Lanka considering their
location, size and cultural aspects.

OR
How is the idea of power sharing emerged? Explain different forms
that have common arrangements of power sharing.

32/1/1 8
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24. Rrdawr ok 39 EF & &9 § Aldite o9aedT & Hec $1 avid
Fifsr| 5x1=5

Describe the importance of democratic government as an
accountable and legitimate government.

25. SEUSH SulAT 3cated % o e SR FR@™! i e fofere &
o & ot Tenfira et 87 forrel oife skl <ht s hifs| T8x1=5

Why do multinational corporations (MNCs) set up their offices and
factories in certain areas only? Explain any five reasons.

Qug-g (AHH 99)
SECTION-D (Map Question)
26. (A) 2 9T A 3R B T MU 9y & TeHifow Tar-wEtes # i
foru T ¥ | 39 @ A Feferfaa SEeRt i wEEar @ 9=
PR 3T Tt A AR i s Y w fiia- 1x2=2
(a) 9% T el AT T kg 1 Ay gl
(b) d€ TR &l SAfrataret s i 9T g5 |
(B) 7&ft fow Tu Wi o TsHifae Yar-amtes # Frafafed § @ fe
i = 3uges gl & aisy ofit 3k m forfaw: 1x3=3
() TFHAYFRH — AT el GIF
(i) TR - <frg ofit seuTd 993
(iii) ST - WAL TFATATSI qTeh
(iv) IREM - GH&l 9=
(v) GER G - 919
Me:  FrefaRaa we Feer giEarfem whenfeat & fog w7 @@ 26
© oA 1 fREl ater st I i - 1x5=5
(@) 38 Usa o A fafan stEt sfertaren an i we g
(i) 3@ Tsg 1 AW foafaw st st 3 T g drsl
(iif) 39 T 1 AW forftee st SR -= g wied gE |
(iv) 38 Tsg o1 am forfae st arrdi wE oo e 2|

= ELE
O #iim

32/1/1 , 9 [P




(A)

(B)

Note :

32/1/1

(v) 39 TsF 1 A fafau swf fsmam e o s g
fea Rl

(vi) 38 Ts¥ o1 9 fafaw s e diweam Siaist aeh
fem 2

(vii) EER U= &g forg 7t o s 27

Two features A and B are marked on the given political outline

map of India. Identify these features with the help of the

following information and write their correct names on the

lines marked near them.

(a) The place where the Indian National Congress Session
was held.

(b) The city where Jallianwalla Bagh incident took place.

Locate and label any three of the following with appropriate
symbols on the same given outline political map of India.
(i) Kalpakkam - Nuclear Power Plant

(ii) Vijayanagar - Iron and Steel Plant
(iii) Noida - Software Technology Park
(iv) Paradeep - Sea Port

(v) Sardar Sarovar - Dam

The following questions are for the Visually Impaired

Candidates only, in lieu of Q. No. 26. Attempt any five

questions.

(i)  Name the state where Jallianwalla Bagh incident took
place.

(i)  Name the state where Gandhiji violated the Salt Law.

(iii) Name the state where ‘Chauri-Chaura’ incident took
place.

‘(iv)  Name the state where Paradeep Sea Port is located.

y(v)  Name the state where Vijayanagar Iron and Steel Plant
is located.

(vi) Name the state where Noida Software Technology Park
is located.

(vii) On which river is Sardar Sarovar Dam constructed?

10
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(v) T IEIT1 7 T%F 3T TY-IFTIT Fo7 & | JAF Fo7 1 37 F & |

(vi) Y97 G&IT 8 & 18 % Ycd%h Y97 8 3% F & | 378 & b Jo7 H IH

80 og] @ 37feres @7 781 &7 FfT |

(vii) 97 G&IT 19 T 25 TF Jcd% o7 5 37 71 & | 597 & Tcdb 97 &7 I

100 sG] @ 37 &7 787 &1 ey |
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26 (A) 2 37% T A5G @ 7T 26 (B) 3 37 &7 YT & & | TlGT T 97
7O &4 T 3G 91 FR-GIaHT & 3K 7791 BT |

General Instructions :

(i) The question paper is divided into four sections — Section A, Section B,
Section C and Section D.

(it)  The question paper has 26 questions in all.
(iii)  All questions are compulsory.
(iv) Marks are indicated against each question.

(v) Questions from serial number 1 to 7 are Very Short Answer Type
Questions. Each question carries 1 mark.

(vi) Questions from serial number 8 to 18 are 3 marks questions.
Answers to these questions should not exceed 80 words each.

(vii) Questions from serial number 19 to 25 are 5 marks questions.
Answers to these questions should not exceed 100 words each.

(viit) Question number 26 is a map question of 5 marks with two parts 26 (A)
and 26 (B) — 26 (A) from History (2 marks) and 26 (B) from Geography
(3 marks). After completion, attach the map inside your answer-book.
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Qusg h
SECTION A

1. 1834 T St § Yook €Y SAas TATMU T 3L <hl AT HINT |
arera

1926 § foo@ ™ H WS Afd Tod ¥ha H 9 ARG & g 8H % [oT
STRER T&F RV sh STEAT HITT | 1

~

Explain the aim to form “Zollverein’, a Customs Union, in 1834 in
Germany.

OR

Explain the main reason responsible for the eruption of a major protest in
Saigon Native Girls School in Vietnam in 1926.

2. i Toaa g fekaral st I gigd s T 2 1
FAua

=g WA A SIS 3Tl 1 TOAAH H HIAG HH S o= I F AW
feam 2 1

Why was printing of textbooks sponsored by the Imperial State in
China ?

OR

Why did Chandu Menon give up the idea of translation of ‘English Novels’
in Malayalam ?

3. Teram 3 S <hl i <k i gHE 1 9 g TR 2 1
e

THATG < STcT ohl AT ohl THR THET I HE g TohAT ? 1

How has Shillong solved the problem of acute shortage of water ?
OR

How has Tamil Nadu solved the problem of acute shortage of water ?

4.  ficers AUl H STFTA (STATE) Sl WIeHT hd fohidd g3 2 1

How did the feeling of alienation develop among the Sri Lankan Tamils ?

132021 3 P.T.0.
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I ThE BEa ITH & Y shaet aut W AR & e fou fooee =1 S&w o=
Bl Gehl & ?

o

SrerET
vl SUSHTR Yaeh o T forehm@ 1 @& 1 81 Tehal1 B 2

What may be a developmental goal of farmers who depend only on rain for
growing crops ?
OR

What may be a developmental goal of urban unemployed youth ?

6.  3MYFe TI A g1 1 Th-Teh IgTelv faafau |

Give one example each of modern currency and older currency.

7. ¢ M9 T i foRrd 3Tt Gl 9med 8, i I8ehl UETl @i gHfTad
1 o g fopm vreq forg (<m)” =t ol 2

If you want to purchase an electrical valuable good, what logo would you
like to see to confirm its quality ?

Qs @
SECTION B

8. 1930 % guh § Y H T8 WY MYk wiergal 1 v Hifvw |
AYAT
1903 | BIE o SMYfeh 9T | 318 TR TS 1 Jui hifvT |

Describe the great economic hardship that prevailed in Europe during
the 1930s.

OR

Describe the serious problem faced by the modern part of Hanoi in 1903.

9. U H BUGH A ThE THR UG- ! Teh T HEId ! Toehfyd foham 2 3gmton
gigd =arean i |
AT
Fcd fsohd o AN o STad Td I W SRR o GSIwTEl 1 hdl o
foram 2 Seretont wfgd =ame HIfST |

| 32/2/1 4



How had the printing press created a new culture of reading in Europe ?
Explain with examples.

OR

How had Charles Dickens depicted the terrible effects of industrialisation
on peoples lives and characters ? Explain with examples.

10. UG H 9 W del Sdie qar i fhwl dF Y@ foRivarsti @1 v
SHIRTT | Ix3=3

atera
YR H 915 ST aTell ‘Shreft Jar i fopegl @1 Tq@ foRisarsti &1 auH e | 1x3=3

Describe any three main features of ‘Alluvial soil’ found in India.
OR

Describe any three main features of ‘Black soil’ found in India.

11.  “Si &ty =g o & fofw s9e @ 9 9 o1@ 3 1 R o9 914 8 17 39
FYT 1 fagaryor Hifu | 3

“The dams that were constructed to control floods have triggered floods.”

Analyse the statement.

12. 99adt g # aftifaa feedl @t fawai o 9w fafae | 371 fowsi W s A
§FTT JTd 8 ? SIS <hIfVT | 1+2=3

AT

MG | g 3 TST I o S T 1 SN b8 YRAE gGfga™ 6
FATE ara 3 2 T Fifu | 3

Name any two subjects that are included in Concurrent List. How are laws
made on these subjects ? Explain.

OR

How is sharing of power between the Union and the State Governments

basic to the structure of the Constitution of India ? Explain.

132021 5 P.T.0.
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13. ‘T gt fafvmar st fawsH @1 €9 6 ot 8 17 39 % @l
ARIETd 38UsT | 3
“Every social difference does not lead to social division.” Justify the
statement.

14. Sfd fp8 TR TSI | 3 &9 of Hehdl 8 ? 3SEWN HAled T8 T | 3

How can caste take several forms in politics ? Explain with examples.

15. “fava W d += 99 & YR Hiftg & | Ifg a1 adam @ & 35T g i R/,

I SR 35 — 40 98T § & FHT & e |7 39 guen ¥ fued o fhedl dF
3T <t ST hifr | 1x3=3
“Crude oil reserves are limited all over the world. If people continue to

extract it at the present rate, the reserves would last only 35 — 40 years
more.” Explain any three ways to solve this problem.

16. T&T €4 § UMWV &1 H okl S g€ § AfU® Jhg R TEwIR 7§ ? Y
HIFTT | 3

arraT
=T RO &5k shl TATd ST k0T &5k § dgdl 41 & ? T8 hifoT | 3

Why is it necessary to increase a large number of banks mainly in rural
areas ? Explain.

OR

Why are service conditions of formal sector loans better than informal
sector ? Explain.

17. 9Rd <l TR STl i AT =AETd 9914 § fohd TR J&F fHeht 31aT
T Hehdl 8 ? 3TN Higd AT hitg | 3
AT
AR F WA o AN o Siad @bl fohd TehR THTiad foham B 2 Sereton afgd
e HIfvT | 3

How can the Government of India play a major role to make globalisation
more fair ? Explain with examples.

OR

How has globalisation affected the life of Indians ? Explain with examples.

| 32/2/1 6



18. JUHRHT 39 ¢k S H GIAT 9 h UHR T ATH Sy 33T & ? ISTE
Higd s $ifve | 3

How are consumers enjoying the ‘right to be informed’ in their daily life ?

Explain with examples.

Qg
SECTION C

19. ‘vom fava g 4 9Ra § HA i wHENsTi @ Ygr foRn 2 gl dfeq

=T 6T | 5
AT

199 wrared) § fofay Hiehlaeh UfshaTeTi 4 WA H hE ATHEeh ST o WId

! Toerfaa foram 2 Iergwon wfgd samean v | 5

How had the ‘First World War’ created economic problems in India ?
Explain with examples.

OR

How had a variety of cultural processes developed a sense of collective
belongingness in India during the 19t century ? Explain with examples.

20. 3Gl vraTedt § fava # MW SeamEl H GehTehl Shi Y{HeRT ST FUM hifg | 5
AT

It srared) % S $Ivg § HIHTRI W Sfied 1 aui I | 5
arera

It vrared) § wie Sl 916 WA o fafay 3 o e Hifs | 5

Describe the role of ‘technology’ in transformation of the world in the
nineteenth century.

OR

Describe the life of workers during the nineteenth century in England.
OR
Describe various steps taken to clean up London in the nineteenth century.

132021 7 P.T.0.



o1. a ° IS TS 4 IHE YT BEe! % I fafgu | 39k ITH % S 1 o
i | 1+242=5

Name the two major beverage crops grown in India. Describe their growing

areas.

22. OO I HI AN TGV H H T=ERT S Fohal ¢ ? Taldm Iumi 1 =amen
I | 5

How can the industrial pollution of fresh water be reduced ? Explain

various ways.

23. “CArehdiieh SIIEATE ATk SHHMAIS ol HH A H SICT %A gl gl 9IS
21”99 AT I FAFETd 3 | 5

AYAT

“AThds ITEH STEAT 37 Yh <hl IME FIEA13T ¥ 98l & |” 39 hoA <hl
=ITIET 38T | 5

“Democracies do not appear to be very successful in reducing economic

inequalities.” Justify the statement.

OR

“Democracy is a better form of government than any other form of

government.” Justify the statement.

24. SIS A © T A 3 ? TSIk e hl Tohgl =R famadareti <1 samean
i | 5

What is a political party ? Explain any four characteristics of a political

party.

25. HrENe T fSht arent st onrfdfer fopameti it ga Shifs | 5

Compare the economic activities of the private sector with that of the

public sector.

| 32/2/1 8
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26.  (A)
(B)
(A)
(B)

132021

wus ¥
SECTION D

T AT ‘@’ 3N b’ fGu M0 wwa F qofas WWaEtE (T 11 W), |
Jferd foru T B | 39 Aqon ol Aefafga St Y wgrEar @ yg=nte
3R 3Tk Tl A 3 THIT Wit 78 Wreh w ffan

(a) 9§ T &l WA TG HiTd Hl YA §31T |
(b) 98 T W&l MlS 9 77 I arel |

Ix2=2

3H} feu U WRA % UoHifae WE-AHtes | Aefaiad 8 9 gt 77

I ITYH Toal | gWET 3 3k 1 fafen
() TR - e IR e EE
(i) MEHTR -  GFIIR TeTATS dTeh
(iii) YT —  TTfueen Sett B

(iv) g« — 99

v) Icﬂ@ﬁ_—[

gl T

Ix3=3

Two features ‘@’ and ‘b’ are marked on the given political outline
map of India (on page 11). Identify these features with the help of
the following information and write their correct names on the

lines marked near them :

(a) The place where the Indian National Congress Session was held.
(b) The place where Gandhiji violated the salt law.

Locate and label any three of the following with appropriate symbols
on the same given outline political map of India :

(1) Bokaro

(ii)) Gandhinagar

(iii) Tarapur
(iv) Salal

(v) Tuticorin

Iron and Steel Plant
Software Technology Park
Nuclear Power Plant
Dam

Sea Port

9
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Fig:  FHECTRET 397 @acl giRaTaa qhgntaer & o/ 397 61 26 & €& T/
g | fargt uier 391 & 3w forfem

Note: The following questions are for the Visually Impaired Candidates

only, in lieu of Q. No. 26. Attempt any five questions :

(26.1) 39 TS &1 AW fafgu, gl IR TS HEE 4 0T AfawH
femrs 1920 ® ST fomam |

(26.2) I8 TS 1 A fARGY, &l el FHUST WA AHGU + HARE FRAT |
(26.3) W T 1 A1 faRgu, S AN S i 99H o+ & H9(9d 2 |

(26.4) 3H USF &1 9 fafgu, &7 siprl Agr 3 se91d 997 fa § |

(26.5) 3 TSY 1 AW faIfgw, S&f aUIqE ATfodes ol 9o fedra 2 |
(26.6) WA @ fohE d¢ W eI T ao+ feora 8 2

(26.7) 3T TST &1 9W faagu, S8 gorter 1y feoa 2 | 1x5=5

(26.1) Name the State where the Indian National Congress held its
session in December 1920.

(26.2) Name the State where cotton mill workers organised Satyagraha.

(26.3) Name the place related to the calling-off of the Non-Cooperation
Movement.

(26.4) Name the State where Bokaro Iron and Steel plant is located.
(26.5) Name the State where Tarapur Nuclear Power plant is located.
(26.6) On which coast of India is Tuticorin sea port located ?

(26.7) Name the State where Salal Dam is located.

| 32/2/1 10
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SET-1
Series JMS/3 I .
Code No. 32/3/1
et 4.

wliemefi @ie a1 IW-YEdH & T@-U8
Roll No. W 3ravd ford |

Candidates must write the Code on the
title page of the answer-book.

o YA FE H A foh 38 Y97 § Gigd I8 10 + 1 THH 3 |

o TH-UA H Fied FTU HI AR T T Shig TR Hl B IT-IEehl o JE@-I8 |
g |

o FYA E WA 70 I H 26 T 1 |

o HUAT T 1 IW {TEHT & HIH ¥ UgeA, T T THuTeh 99 ford |

o T THUA HI UG o fo1C 15 fiFe o1 Tm fon mn @ | WeA-9F W foaw gatg
T 10.15 5 5T IT@W | 10.15 ST § 10.30 1 b B hadd IH-UF bl TeTl
3T 39 27afy o QA o ITR-Yfedept W ig I 81 fore |

e Please check that this question paper contains 10 printed pages + 1 Map.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

¢ Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.

e SERCHIC]

SOCIAL SCIENCE

FEiRa 77 : 3 T2 S7feHTH 37 : 80

Time allowed : 3 hours Maximum Marks : 80
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855
TTHT=T 3397 :
() 39 J97-97 H IR GUSI 7 [F9I5a 1397 797 8 | @ &, @U8 &, @S T 3K

Gug & |/
(i) 39 J99-99 4 $T26 FH & |
(i) G 37 S & |
(iv) HcI® J97 & 37H 3G% G 1T TT & |
(v) I 7 T A TG-FTIT I E | 9% To7 1 3% H1 5 |

(vi) Y97 G&IT 8 T 18 % Ycd%h Y97 3 3% F & | 378 & I Jo7 H IH

80 og] @ 37feres @7 781 &7 FfT |

(vii) ¥o7 G&IT 19 T 25 % Jcd% J97 5 b 7 8 | 378 & Id% J97 H I
100 3753 @ 37fere &7 987 &7 =eT |

(viii) Yo7 G&IT 26 HAEGT J97 5 37 HT & | 399 3 YT & — 26 (A) 3K 26 (B) |
26 (A) 2 37% T A5G @ 7T 26 (B) 3 37 &7 YT & & | TlGT T 97
7O &4 T 3G 91 FR-GIaHT & 3K 7791 BT |

General Instructions :

(1) The question paper is divided into four sections — Section A, Section B,
Section C and Section D.

(it)  The question paper has 26 questions in all.
(iti) All questions are compulsory.
(iv) Marks are indicated against each question.

(v) Questions from serial number 1 to 7 are Very Short Answer Type
Questions. Each question carries 1 mark.

(vi) Questions from serial number 8 to 18 are 3 marks questions.
Answers to these questions should not exceed 80 words each.

(vii) Questions from serial number 19 to 25 are 5 marks questions.
Answers to these questions should not exceed 100 words each.

(viii) Question number 26 is a map question of 5 marks with two parts 26 (A)
and 26 (B) — 26 (A) from History (2 marks) and 26 (B) from Geography
(3 marks). After completion, attach the map inside your answer-book.
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SECTION A

1. 1815 ¥ AfUehe Flgard I HaeATsli 3 Hretel shifd & S Jlgd qmft i

fafa # & foru defim & frm w=i s 2 1
arera
1907 ¥ forram ® “Ciferd Sh1 ®ha’ @It Qi TR 2 1

Why did most of ‘conservative regimes’ impose censorship laws to control
printed material associated with the French Revolution in 1815 ?

OR
Why was the ‘Tonkin Free School’ established in Vietnam in 1907 ?
2. HgU I H YE ARG | IUgfAfEt sk SuR § i el off 2 1
AT
TR | sEdl Te) & IR g9kl § AfE1st 3 s=ll i IU=ATEl ol U &
ITT: galcdTiga @it foham T 2 1

Why were manuscripts not widely used in India before the age of print ?

OR

Why were women and children often discouraged from reading novels in
the early decades of the twentieth century in India ?

3. unEes H @ fhamd form yehr y-fafiehtor & fotu IoRerft 8 2 1
HAAAT
Tora H 3f weEn -t o fofe S saterh 7 2 1
How are mining activities responsible for land degradation in Jharkhand ?
OR

How is overgrazing responsible for land degradation in Gujarat ?

4.  dfcoaw § ATEIRe SRR Sy IH S g ? 1

How is community government elected in Belgium ?

5. Y& % AR IRER hH Tk AdShl & o faemma 1 @& = 8 geha1 8 2 1
STt
Tk grad fora & fou foepme o1 e o g1 gehat B 2 1

| 32/3/1 3 P.T.O.



What may be a developmental goal of a girl who belongs to a rich urban
family ?

OR

What may be a developmental goal of a rich farmer ?

6. IS UF Ik IT(UHh &ehi b1 Teh-Ueh IQTEVI fAIRAT |

Give one example each of primary and tertiary economic sectors.

7. a9 ug fadeft fEw # @ o il |
Distinguish between investment and foreign investment.
Qs g
SECTION B

8.  fored o8 Use U9 & w9 T 3ifEded H M1 2 SRS i |
Jrera
forrae o e hH TSHITaeh 3R ATERideh TN & ST@IEl H 95 ¢ ? STE
s |

How did Britain come into existence as a nation-state ? Explain.

OR

How had schools in Vietnam become an important place for political and
cultural battles ? Explain.

9. ISl wAEE H YWd H fohE YRR o=, Afgenell 3TN IR oh €9 H &
&I § AU U3k 9¢ ? ITEWN Uigd AT shIfaT |
Jrera
sfufrafses aer @ 2oty Ssu=mEl # e Sfem o Gfafest @ g
SRR 1 T FIq il ToR 7T 2 3T Ffga samean Hif |

How had a large number of new readers among children, women and
workers increased in nineteenth century Europe ? Explain with examples.

OR

How were vernacular novels a valuable source of information on native life
and customs for colonial administration ? Explain with examples.

| 32/3/1 4
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10. < o A1k fammm K g & w9 9 fafmior e & Agw o1 9uig I | 3
HAYAT
HN o fohrE H TN o ANTGH T JUH I | 3

Describe the importance of manufacturing industries as a backbone of
economic development of the country.

OR

Describe the role of industries in the development of agriculture.

11.  “gured faee wes Sfed afshan 2 17 denl Afgd 39 eF sl HETTd 38UsT | 3

“Resource planning is a complex process.” Justify the statement with
arguments.

12. ol ° Sfa ford TR 37 ®9 o Hehdl 8 2 3S8WN digd saredT hifve | 3

AT

AR X H ATSE) o oG § Algensti 6 feufd § 8 gan gsn ? el |ied
ST HIT | 3

How can caste take various forms in politics ? Explain with examples.

OR

How had the position of women improved in our country since
independence ? Explain with examples.

13. “TArepditieh qae i aEt Tbetal FAfhd 3R fsaer gmEt § 7 17 39 Hed &
fergerwor ShifST | 3

“Democracies have had greater success in setting regular free and fair
elections.” Analyse the statement.

14. “Thad I HeEd HE HI AN S AlhdIENh FGEAT oh HHA Tohell T fopelt
w9 T 7 |” 3TN Afgd YA A gfee Hifvw | 3

“The challenge of deepening of democracy is faced by every democracy in
one form or another.” Support the statement with examples.

| 32/3/1 5 P.T.O.
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15. TH WTehideh THIEHT 1 3fd R foeehyash &1 & ITANT T AT AT, ? 379
foam =1 T HIfvT | 3
Why should we use natural resources properly and judiciously ? Explain
your views.

16.  3Thal Y &F | Bl ATUH USHIR h¥l Icdd fohT ST Tehd & ? fohral oM IUTT <hl

ST HIY | 1x3=3
e

WRA H SUSATY shl |We 1 8 gL fohal ST Eehal & ? fohegl i Iumil o

T HINT | 3

How can more employment be created in agriculture sector alone ? Explain
any three ways.

OR

How can the problem of unemployment be eradicated in India ? Explain
any three ways.

17. “U GhRIcHS YR TG HL Ghal & |7 T HUA hl doh dlgd ~AFET
SIAER 3
rera

“FUT TRTICHS USRI IS H THhAT & |7 FH HUT I dh dlegd AP
3alley | 3

“Credit can play a positive role.” Justify the statement with arguments.

OR

“Credit can play a negative role.” Justify the statement with arguments.

18. ¥R H foesfi e =l 3hiva == & U g 9 TS9 TSN g0 33T 7T
forgl i shemi w1 avfa i | Ix3=3

Describe any three steps taken by the Central and State governments to
attract foreign investment in India.

| 32/3/1 5



19.

20.

Qs 1
SECTION C

TRTeHT el o ol 3R TS i Taenon % fow § e wegl ST

S T oft 2 sare i | 5
HAYAT

TRd o fafys vr 4 foraml ot srifeanfE= 3 ‘smagai sTeiad’ ° o IR

T forn 2 s hifST | 5

How did plantation workers have their own understanding of Mahatma
Gandhi and the notion of Swaraj ? Explain.

OR

How had peasants and tribals participated in the ‘Non-Cooperation
Movement’ in different parts of India ? Explain.

1920 % YR o H fohd yor sfieh! Srefeasen g: osft & awehl i

M 2 IS0 Gfgd SAredT hifau | 5
3AYAT

el IdTed! o SN Fis H SR H 2| hl SEdEd | wegl ol et ha

THTII 83 ? 3G Higd SATed] hifg | 5
AYAT

IAHE] WAl § TS & HU IR HREH H iAo g8 AW W AT °

8 it T 9er 7 S off 2 e wfgd e Fif | 5

How had the U.S. economy resumed its strong growth in the early 1920s ?
Explain with examples.

OR

How did the abundance of labour in the market affect the lives of workers
in England during the nineteenth century ? Explain with examples.

OR

How had widespread use of coal in homes and industries in nineteenth
century England raised serious problems ? Explain with examples.

7 P.T.O.



21. WA § IME T 2 TgE WeR BEet % T8 RRaT | 3 Gt BeEet B 3T 6
AT I o 1 ITeh 3T o &A1 bl Ui hIfST | 1+2+2=5

Name the two major fibre crops grown in India. Describe the conditions
required for growth of these two crops with their growing areas.

22, “fordll <91 & TSI IR i 3o ST a1 a1 2 |7 dehl dfgd e
] ~TEETd 38T | 5

“International trade is considered the economic barometer of a country.”
Justify the statement with arguments.

23. YA 39 fowmer < # H-wadla TWHR & ug *1 9l HIfu | Ix5=5
AAAT
Teare i fohedl ure faemansti o1 o i | Ix5=5
Describe the importance of a third-tier of government in a vast country like
India.
OR

Describe any five features of federalism.

24, Tr=fafea gl 1 U @ & 91d o 9 1 9gEH R PEEg hivT 5
(i)  -SMS Hihd
(i)  TRmeft sremreft gt
(i) ...

(iv) ~ Trgardl s uret
(v)  WRAE ST qréf
(vi) 3@ o

(vii) HRES scAih

(viii) SHdT & ()

(ix) TS ST g
(x) FHNETE! q1el

| 32/3/1 8
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Identify and list the following political parties as National and Regional
political parties :
) National Conference
(11) Shiromani Akali Dal
(ii1)) D.M.K.
(iv)  Nationalist Congress Party
(v)  Bharatiya Janata Party
(vi)  Shiv Sena
(viil) Forward Bloc
(viii) Janata Dal (U)
(ix) Rashtriya Janata Dal
(x)  Samajwadi Party
25. “STR § 9T g ®UI H A1 B |7 TS HINT | 5
“Exploitation takes place in the market in various ways.” Explain.
Qs v
SECTION D

26. (A) T AU ‘@’ I’ b U MU wRA &% eHIfIw W@r-AERE (I8 11 W), §
Sferd fopy U @ | 39 w1equn skl fAmferiad SRl shl wgrdr 8 gg=ne
3 3Tk Tl 9 3k FHIT Fi= 78 Warst W fafan 1x2=2

(a) & T ST&T WRATT TS HiTE 1 A= g3 |
(b) 98 T F&l § A hI Wt L A7 FREMI 1 IGIeH TR T |

B) = feu T wwa % oo W@amts § Gmfatad § 9 et @i

I I BT W RIS IR Ik A1 fIRaT 1x3=3
(i) dHS — oy

(i) it —  Yq@ 995 q°H

(iii) T —  rE 3R 3 g

(iv) BeUEle - TP TeTeArsil dTeh

(v) T N INEE IR

32031
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(A) Two features ‘@’ and ‘b’ are marked on the given political outline
map of India (on page 11). Identify these features with the help of
the following information and write their correct names on the
lines marked near them :

(a) The place where the Indian National Congress session was
held.
(b) The place from where the movement of Indigo planters was
started.
(B)  Locate and label any three of the following with appropriate symbols
on the same given political outline map of India :

(i) Hirakud — Dam

(i1)) Kochi —  Major sea port

(iii) Salem —  Iron and Steel Centre

(iv) Hyderabad -  Software Technology Park
(v) Naraura —  Nuclear Power Plant

qig:  HEIad Je7 #ac grRETad qagniaal & /g I 6T 26 F T T/
& | fa=gT aier 3991 & 3 71w -

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 26. Attempt any five questions :

(26.1) 39 TST I A (ARG, F&T Al eTe ST =T 85 |

(26.2) 3T TIM 1 9M fARgu, &l fid h Tt HH O fmEHET 3 T IwE
ferarm |

(26.3) TSHIG o 3 TN &1 91 foafgu, Sgf fhamt 4 aemrg o |

(26.4) 3T USF &1 W fifgu, @7 deart dig-3%h @ & § |

(26.5) 38 TS &1 AW feifgu, Sgt Sifa aqg o feom 2 |

(26.6) 3 TSY 1 AW faifgq, &l R 31fvaeh T fed 7 |

(26.7) 3 UsH 1 A foiflgy, &t giqe Aren aorn se9rd w3 feerd 2 | 1x5=5

(26.1) Name the State where Jallianwala Bagh incident took place.

(26.2) Name the place where the Indigo planters organised Satyagraha.

(26.3) Name the place where the peasants started Satyagraha in
Gujarat.

(26.4) Name the State where Bellary Iron-ore mines are located.

(26.5) Name the State where Kochchi Sea Port is located.

(26.6) Name the State where Naraura Nuclear Power Plant is located.
(26.7) Name the State where Durgapur Iron and Steel Plant is located.

| 32/3/1 10
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SET-1
Series JIMS/4 Eackl
Code No. 32/4/1
T 4.

wliemefi @ie 1 IW-YEdH & TE@-U8
Roll No. W 3ravd ford |

Candidates must write the Code on the
title page of the answer-book.

o YA FE H A foh 38 Y97 § Gigd I8 10 + 1 THH 3 |

o TH-UA H Fied FTU HI AR T T Shig TR Hl B IT-IEehl o JE@-I8 |
forg |

o FYA E WA 70 I H 26 T 1 |

o FHUAT T T IW TEHT I[E I ¥ UgeA, T T THuTeh a9 ford |

o T THUA HI UG o fo1C 15 fiFe o1 Tm fon mn @ | WeA-9F W foaw gatg
T 10.15 5 5T IT@W | 10.15 ST § 10.30 1 b B hadd IH-UF bl TeTl
3T 39 AT & G d IT-YfEdehl W hig ST g 1@ |

e Please check that this question paper contains 10 printed pages + 1 Map.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

¢ Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.

I NS CAERIC]

SOCIAL SCIENCE

FEiRa 77 : 3 T2 S7feHTH 37 : 80

Time allowed : 3 hours Maximum Marks : 80
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Wﬁﬁw:

(i)
(ii)
(iit)
(iv)
(v)
(vi)

(vii)

(viii)

34 Y97-97 %1 TR GUS] H [G97f5id 137 77 & | @V %, @IS &, TUS T 3K
U8 7 |

3G Y97-97 H $He726 T 8 |

&%t o7 i & |

TP o7 @ b 3G G T T F |

Yo7 &1 @7 % 3ld TG-ITIT FeT 8 | F%F FoH 1 b BT 8 |

Y97 G&IT 8 & 18 % Yl Y97 8 3% #1 & | 594 & Y% Fo7 H FH

80 og] @ 37feres @7 781 &7 FfT |

J97 G&IT 19 T 25 T Y% G4 5 3% F & | 590 & J9b Y97 HT FH
100 3753 @ 37fere &7 987 &7 =eT |

J97 G&IT 26 HAIET Y97 5 3% H1 & | 399 31 917 & — 26 (A) 37K 26 (B) |
26 (A) 2 37% T A5G @ 7T 26 (B) 3 37 &7 YT & & | TlGT T 97
7O &4 T 3G 3T IR-GIabT B 3T 771 BT |

General Instructions :

(i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

The question paper is divided into four sections — Section A, Section B,
Section C and Section D.

The question paper has 26 questions in all.
All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 to 7 are Very Short Answer Type
Questions. Each question carries 1 mark.

Questions from serial number 8 to 18 are 8 marks questions.
Answers to these questions should not exceed 80 words each.

Questions from serial number 19 to 25 are 5 marks questions.
Answers to these questions should not exceed 100 words each.

Question number 26 is a map question of 5§ marks with two parts 26 (A)
and 26 (B) — 26 (A) from History (2 marks) and 26 (B) from Geography
(3 marks). After completion, attach the map inside your answer-book.
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@vusg <h
SECTION A

1. 1848 H Hfgsh @iy 7 oM i # woesff wegfa &I i 2 T R0 T
hifoTe | 1
AT
foRIa-™ § <ifehd Shl TR 1 WAl 71 ? Teh U TS HIT | 1

Why did Frédéric Sorrieu present utopian vision in his prints in 1848 ?
Explain one reason.

OR

Why was the Tonkin Free School started in Vietnam ? Explain one
reason.

2. 9RA H IEdl T % SNH $© ATG1-Un IURE 1 I Sl 6l Igd § e
i W 3 ? 1
AAgAT
et wt o e 3 Gft 39 R g B A = 2 1
Why had some parents kept novels away from their children’s reach during
19th century in India ?
OR

Why had Englishmen demanded a clamp down on the ‘Vernacular Press’ in
the 19tk century ?

8. IS hl HHA IJMH o TC qad AT ITYH 7T -1 7 2 1
HYAT
YR H H-H ga1 Faiiee foegd ®9 9 Hefl 3R ggwqu & ? 1
Which type of soil is most suitable for growing the crop of cashew nut ?
OR

Which type of soil in India is most widespread and important ?

32041 3 P.T.0.



4. 39 W w1 9W fafan, & 1956 % g I g 3w o g w1 w9
fomm | 1
Name the country where ethnic struggle led to violence and revolt after
1956.

5. ‘il 1 1Y T HINT | 1

HAYAT

TR o d a6 gy won & SNu=ies |idi o e hl SAravehdl ST Il
e HifT | 1
Explain the meaning of ‘Currency’.

OR

Explain the reason for necessity of supervision by the Reserve Bank of
India of formal sources of loans.

6. AU H HER Mefiehl o JeE 1 fovemor Sifs | 1

Analyse the contribution of communication technology in globalisation.

7. WM <ifoe f5 Ut faoiell &1 amE (SueRn) @leT 8, 9 39 WM W
TUTERT o T 379 -9 S 31 31eg fag g@nt ? 1

Suppose you have to buy electrical equipments, which logo or mark of
quality will you see on the equipments ?

Qs @
SECTION B

8.  IEEdl YA % GRH JUUSTERT & st= Usgarg WaHTsTi &l fasid & o
FHTHIETE <! ffieht T U HIT | 3
AYAT
BT F13T1 TGIa oI, To=raeTd shi TsCare! JEIgW o €9 § JUH HiT | 3

Describe the role of Romanticism in developing nationalist feelings among
Europeans during nineteenth century.

OR

Describe Hoa Hao movement as a mainstream nationalism of Vietnam.

| 32/4/1 4



9. “Yna ° AT wd & 7q H IIfd-Ag % TR § qlE-ats sl giga gieaehrsti 31
faeei # foran S o o |7 3| e o i & SuFh Serewl afga hifse | 3
HAYAT
“Urag % fOhE ITRTEl W 9 SHERl Jodl W STEId §HNS SEId feEd
& 1”7 38 e sl e 2 Iuh IS Hfgd I | 3

“Issues of caste discrimination began to be written about in many printed
tracts and essays in India in the late nineteenth century.” Support the
statement with two suitable examples.

OR

“Premchand’s characters in different novels create a community based on
democratic values.” Support the statement with two suitable examples.

10. “9g3M 9RESEN SR §g Y I AT HHINH IGIEH o HRU &4 T

2 1”7 U8 ITeiedl 9 grIf-ad FUI ol SIMR hifaY | 3
YT

“OrYTier aNT-ST TURY YOS STl TR0 3 Tl WUSRYT & forw Iwanf B |7

TG YUl <hl Tl bl &l 3| digd IR shifvw | 3

“Multi-purpose projects and large dams have been the cause of many new
social movements.” Highlight the concerns related to such movements.

OR

“Traditional harvesting system is a useful system to conserve and store
water.” Highlight the importance of this system with two examples.

11.  Tl% I g 3TN T I g o o9 foheal diF ST hl IAFR HIT | 1x3=3

Highlight any three differences between Kharif cropping season and Rabi
cropping season.

12. had H T TEemEl fer (T9-3meH) i wiei SR SISt 1 Yo
HIT | 3

3UAT
T H T ShT HISER Ugfa o1 Poolish iy | 3

Evaluate the strengths and limitations of local self-government in a
democracy.

OR
Evaluate the power sharing system in India.

32041 5 P.T.0.



13.

14.

15.

16.

17.

18.

“Griiies faveFl & S S 98 & folu dlehdd g9l 3 T=<a1 ali & |7
HUA hI RN IFUST | 3

“Democracy is the best way to accommodate social division.” Justify the
statement.

“Dreprardl 1 9 &1, AT sl HhaIdT ! TaTEl a1 & |7 3eTevil |fed e
i gfee shifvm | 3

“Complaints are treated as testimony to the success of democracy.”
Support the statement with examples.

“ad o qort & fore Iwerht ], 9t 98 StEWarsti i fodr wendt B 17
ST Tqehi Algd e hi Ifse T | 3

“Average income is useful for comparison but it may hide disparities.”
Support the statement with suitable arguments.

Sl MR Tt |iufet & Stot wur ¢ i Tfafaferi o wwer & § sem
o forrgl i sron <Al same IS | I1x3=3

Explain any three reasons for the banks and cooperative societies to
increase their lending facilities in rural areas.

Jvefientur o fehegl ofiF AT ST HeATeh SHIfSTT | 1x3=3
HAYAT
SRS HEA(T o feheg] dIF ATHT 1 JeATRA 1T | 1x3=3
Assess any three advantages of globalisation.
OR

Assess any three advantages of multinational corporations.

ITHIRIST o [T G I o SRR (JIME.3TE.)’ o 5w o1 aviF i | 3
HYAT

ITHAISTT o ToT “@faqfd famer s 1feshR’ & #gwa &1 aui i | 3

Describe the importance of the ‘Right to Information (RTI)’ for consumers.

OR

Describe the importance of the ‘Right to Seek Redressal’ for consumers.

| 32/4/1 6
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SECTION C
19. Il 9t & SH WRa A sfYd yarEt sftent fY feufa @ avia Hifs 5
areran
IR o TRIYeh U] T I o6 s #§ fiest &1 avi hife | 5
areran
St wd % o # o el v F wow § g (qrad) § ftr R’
TshAT T U HIT | 5

Describe the condition of indentured labour that migrated from India
during the nineteenth century.

OR

Describe the role of early entrepreneurs of India in the development of
industries.

OR

Describe the ‘land reclamation’ process in Bombay during the late
nineteenth and the early twentieth centuries.

20. HgeHT et 3 Aoy Ta3m AR = IR foRAT 2 39 3Teied J oW I fhd

YR AT ? ST HIfTT | 5
reran

HETCHT et 7 ‘STEgAN MG F1 I[E fohaT ? 39 3TRIeH 4 ¥ ol fohd TR

SfreT ? S Hifre | 5

Why did Mahatma Gandhi start the ‘Civil Disobedience Movement’ ? How
did this movement unite the country ? Explain.

OR

Why did Mahatma Gandhi launch the ‘Non-Cooperation Movement’ ? How
did this movement unite the country ? Explain.

32041 7 P.T.0.



21. DIIATIR % &7 F 37t 359 TR 3R wiEr iR e Sewit % THET B
IO sl T HIfT |

Explain the reasons for concentration of iron and steel industries in and
around Chotanagpur region.

22. Torelt <@ o foom@ o foau, qd smfea & &9 § aiEgd o @19l o " ol
TS HITY |

Explain the importance of means of transport as a prerequisite for the
development of a country.

23. fafim el o1 avie HifSe, [ mesm 9 vra | afgast & @y dSewrg 31t

31 SHA BT 2 |

Describe the different ways through which women face discrimination and
oppression in India.

24, TIhad H TSHITGH ol ol YHERT i T HINT |
tuan
AR W TSI el <hl STTAYIRT hl SRS HIT |
Explain the role of Political Parties in a democracy.

OR

Explain the necessity of Political Parties in a democracy.

25. <3 o 3T IRt § HESI-eh &5k o JNTEH hl ITTR hIT |

Highlight the contribution of public sector in the economic development of

a country.

| 32/4/1 8
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26. (A
(B)
(A)
(B)

32041

T AT ‘@’ I

IR Ik T AW 3ok Trfig Tl 78 e w fafge -
(a) 9% TN TET YR TS HiE H1 AREIE g |

wus ¥
SECTION D

b’ o U wRa & TeHiTae W@-AEEE (98 11 |), |
3ferd foru T B | 39 I 1 FAfafga St Y wgrEar @ yg=ne

1x2=2

(b) 98 AN Sl mefsh 9 fiad Al @dl v a1l fha il o 981 O 9camig

1x3=3

T fema |
34 feu U WwRa & ToHifaes W@aEtes § FeEfatad O 9 gt diT
I ITYH Faal | guiigy 3R Ik a1 fafaw
(i) dEge —  3TTiogeh el HIA
(i) g™Mg - 99
(iii) WAl —  GFRII TeTATSI dTeh
(iv) ®ieel - 9@ "G 9o

(v) §‘liEI

ATET 3TN 3T I

Two features ‘@’ and ‘b’ are marked on the given political outline
map of India (on page 11). Identify these features with the help of
the following information and write their correct names on the
lines marked near them :

(a) The place where the Indian National Congress Session was

held.

(b) The place from where Gandhiji organized Satyagraha in favour
of Indigo planters.

Locate and label any three of the following with appropriate symbols
on the same given political outline map of India :

(i) Tarapur

(ii) Tungabhadra —

(ii1) Mohali
(iv) Kandla
(v) Durgapur

Nuclear Power Plant

Dam

Software Technology Park
Major Sea Port

Iron and Steel Plant

P.T.O.
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Fig:  FECTRET 397 @acl giRaTaa qhgntedel & o/ 3o7 61 26 & €& T/
& | fasegt uiwr ol & I forfa

Note: The following questions are for the Visually Impaired Candidates

only, in lieu of Q. No. 26. Attempt any five questions :
(26.1) TGN MGIe ! I T4 & Faferd T w1 9 foafen |

(26.2) WA TS HIE I TS Hal 3T AT ?

(26.3) Sifcrateren a1 w1 fohw Usa H wfed g8 ?

(26.4) TG (VR Hott w97 fohg Tsa # oo B 2

(26.5) 39 TS =1 A faRaw, S&T Mgl afved=r Taretis ureh oo 7 |

(26.6) I8 TS 1 AW [ARGY, &N YL ATET 3TN 89Tq T 6o 2 |

(26.7) HISAT TG I WRA o Toh8 q¢ W @ B 2 1x5=5

(26.1) Name the place related to the calling off of the Non-Cooperation
Movement.

(26.2) Where was the Indian National Congress formed ?
(26.3) In which State did Jallianwala Bagh incident happen ?
(26.4) In which State is Tarapur Nuclear Power Plant situated ?

(26.5) Name the State where Mohali Software Technology Park is
situated.

(26.6) Name the State where Durgapur Iron and Steel Plant is located.
(26.7) On which coast of India is Kandla Sea Port located ?

| 32/4/1 10
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YA T {T-AHH (TS TR )
Outline Map of India (Political)
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SET-1
Series JMS/5 I .
Code No. 32/5/1
et 4.

wliemefi @ie 1 IW-YEdH & TE@-U8
Roll No. W 3ravd ford |

Candidates must write the Code on the
title page of the answer-book.

o YA FE H A foh 38 Y97 § Gigd I8 10 + 1 THH 3 |

o TH-UA H Fied FTU HI AR T T Shig TR Hl B IT-IEehl o JE@-I8 |
g |

o FYA IE WA 0 I H 26 T 1 |

o HUAT T 1 IW {TEHT & HIH ¥ UgeA, T T THuTeh 99 ford |

o T THUA HI UG o fo1C 15 fiFe o1 Tm fon mn @ | WeA-9F W foaw gatg
T 10.15 51 fpaT IT@W | 10.15 S § 10.30 1 b B shadl IH-UF il Teil
3T 39 AT & GRA o IT-YIEdh! T g I &1 fore |

e Please check that this question paper contains 10 printed pages + 1 Map.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

¢ Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.

I NS CAERIC]

SOCIAL SCIENCE

giRa a7 - 3 o2 S7feHaTH 3% : 80

Time allowed : 3 hours Maximum Marks : 80
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Wﬁﬁw:

(i)
(ii)
(iit)
(iv)
(v)
(vi)

(vii)

(viii)

34 Y97-97 %1 TR GUSI H [G97f5id 137 797 & | @V %, @S @, TUS T 3K
U8 7 |

3G Y97-97 H $He726 T 8 |

qyt o7 arfAard & |

Ted% Jo7 & 3 3G% T3 RT T E |

o7 Gegr1 8 7 7% 3T Tg-IF0T J97 & | IAF o7 1 3F BT |

o7 GEIT 8 & 18 T%F FeIF T 3 3F H 2 | FIH & FAPH J¥A H IH

80 og] @ 37feres @7 781 &7 FfT |

J97 G&IT 19 & 25 T % Y97 5 3% F & | 398 & Y9 Y97 &1 FH
100 3753 @ 37fere &7 987 &7 =eT |

J97 G&IT 26 HAIET Y97 5 3% H1 & | 399 31 917 & — 26 (A) 37K 26 (B) |
26 (A) 2 37% T A5G @ 7T 26 (B) 3 37 &7 YT & & | TlGT T 97
7O &4 T 3G 91 FR-GIaHT & 3K 7791 BT |

General Instructions :

(i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

The question paper is divided into four sections — Section A, Section B,
Section C and Section D.

The question paper has 26 questions in all.
All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 to 7 are Very Short Answer Type
Questions. Each question carries 1 mark.

Questions from serial number 8 to 18 are 8 marks questions.
Answers to these questions should not exceed 80 words each.

Questions from serial number 19 to 25 are 5 marks questions.
Answers to these questions should not exceed 100 words each.

Question number 26 is a map question of 5§ marks with two parts 26 (A)
and 26 (B) — 26 (A) from History (2 marks) and 26 (B) from Geography
(3 marks). After completion, attach the map inside your answer-book.

320501 2
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SECTION A

1.  H-91 T8 §iY % T % 91 | Shifder] TG € qgam=1 7= 2 1
HAYAT
aMufrafires wrar & wrEeifat grr foaraamanfiat w snyfie foaa & fau e

JhT TcdTiad fopam =T 2 1

Which nation was identifiable in the revolutionary tricolour in Sorrieu’s
utopian vision ?

OR

How were the Vietnamese encouraged by the French to look modern,
during the colonial period ?

2. ‘EEMdEl weg % 31 hl e i | 1

HAAAT
“TaTCTe’ wTeg o e i TR HIfT | 1
Explain the meaning of the term ‘Calligraphy’.

OR
Explain the meaning of the term ‘Epistolary’.

o~

3. YW % ¥gd "YUl ihideh HEHH % €4 H AW SN &, TEHI Th HR

<

IR HIRT | 1
HAAT
g Jd1s o Hgwd i ISR HIT | 1
Highlight the reason for land being known as an utmost important natural
resource.
OR

Highlight the importance of contour ploughing.

4,  AThdlEeh SIIEATS H HAT <hl HTEEH] 1 3T<S! & 2 Ueh hI0T TIL HIfST | 1

Why is power sharing good for democracies ? Explain one reason.

| 32/5/1 3 P.T.0.



5. g1 i 1 wiem i ket S & 2
CC)]

T THTAT Sl GgT o &9 H I a9 1T § ?
Why is money called a medium of exchange ?

OR

Why are demand deposits considered as money ?

6.  SEUSEH HAAT 3N B HHHRI H 3T T HIT |
Differentiate between multinational corporations and domestic companies.

7. UM AT foh smdent veg i U et Wled B | 39! e gHfead S 6
fore 31 - visg fag () <A =E 2
Suppose you have to purchase a bottle of honey. Which logo of quality
would you like to see to ensure its quality ?

Qs @
SECTION B

8. ST % FHE H il a1 foremmeh 61 R 1 9vH HINT |
arerat

o o ‘amrsy forid oTigrem | Afgaatt i fHeht w1 Jui Shifvw |

Describe the role of Otto von Bismarck in the making of Germany.

OR
Describe the role of women in the ‘Anti-Imperialist Movement’ in Vietnam.

9. “Orogdl |¢ AT H EU SHIfd 4 AT 1 Siad dgd a1 |7 39w aehl dlea
39 HYA i gfee HifT |

HAAT

‘Tt 9t & U w3 afgesti % wiva g9 e bk e 17 5|
HYA hI I IeTeN afga gfse i |

| 32/5/1 4
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“Print Revolution in sixteenth century Europe transformed the lives of
people.” Support the statement with suitable arguments.

OR

“The nineteenth century European novels depicted the involvement of
women.” Support the statement with suitable examples.

10.  “THISHU A Sl hl GOVl 1 IGHT 2 | dehl Higd 39 e hl e IR | 3
AAAT

“qui-STet TIEY g, el S GEINAT <hl HHEAT Wl A A T Teh TN 3T
2 1” a  FEEd 38Uy | 3

“Urbanisation has added to water scarcity.” Support the statement with
arguments.

OR

“Water harvesting system is an effective measure to reduce the problem of
water scarcity.” Justify the statement.

11. F=fRed = @l® waal 3R @ waai § arfied i 3
i "
(i)  Hehl
(i) St
(iv) HX
(v) SNU
(vi) I (W)
Categorise the following as Kharif crops and Rabi crops :
(1) Wheat
(i) Maize
(iii) Barley
(iv) Peas
(v)  Bajra

(vi)  Tur (Arhar)

| 32/5/1 5 P.T.O.



12.

13.

14.

15.

16.

“guare’ i forgl o9 fammsarst =1 guiH v | 1x3=3
HAYAT

gifaeter TRNeE, 1992 g LA TR fHhrl i 93rh s & fi 381w

T4 foregl 9 shedi &1 9o HifST | I1x3=3

Describe any three features of ‘federalism’.

OR

Describe any three steps taken to strengthen the local self-governments, by
the Constitutional Amendment, 1992.

“Torfifa 3 gmfes fowrsHl w1 sog | Od qE g1 =E |7 e &
IETd 38T | 3

“Politics and social divisions should not be allowed to mix.” Justify the
statement.

“Sreheitien e sgaeaTd fofay grmmioes fawem! § wmer Sordt & 17 54
e T gfse AT | ’

“Democracies accommodate various social divisions.” Support the
statement.

SAA-AAT AN o I & &g o TR f99 Bid 8 2 IS8 gfed Tose
HIT | 3

How do different persons have different developmental goals ? Explain
with examples.

A RSTel oo o feohegl 9 T I T HIWT | 1x3=3
HAAAT
U7 i T TEEYU W1 <l ST HINT | 1x3=3
Explain any three functions of the Reserve Bank of India.
OR

Explain the three important terms of credit.



[=]~*!
17.  SvdIehur sl 31fYeh AT S & fehedl dfiF SRl o1 fovamor hifse | 1x3=3
AT
A | SgUSER HAHAT (TH.OA.HY. ) T ofvellentor < TwTEl o foveyor i | 3
Analyse any three factors that make globalization more fair.
OR
Analyse the impact of globalization on Multi-national Corporations
(MNCs) in India.
18. 3IUHIHIST o forral @i 31fereprl sl ISR hifsu | I1x3=3
Highlight any three rights of consumers.
Qs 1
SECTION C
19. 3THIRT § 1890 % ¥k H Netuxe’ & WGl &l quH HIfT | 5
HAYAT
‘TR I o TG 0T H ASIGU ol SIS I IUM FHIWT | 5
HAYAT
IEel T o Ay | wed H Ui & oy § wWiysrl 9 gy feh w
YTl < i hIfT | 5
Describe the impact of ‘Rinderpest’ in Africa in the 1890s.
OR
Describe the conditions of workers in FEurope after the Industrial
Revolution.
OR

Describe the efforts made by philanthropists to counter criminalisation in
London in the mid-nineteenth century.

| 32/5/1 7 P.T.O.



20.

21.

22,

23.

24.

25.

“afea 31971 eI bl HHTeT il surE FIfSu | 5
AuaT

ARG 1 AU TR Teifae feafd W Yem fava g’ & qaiomr i =men

%li\ﬁQl 5

Explain the limitations of the ‘Civil Disobedience Movement’.

OR

Explain the implications of the ‘First World War’ on the economic and
political situation of India.

TR 37eIaEd § I8 I 1 TIfTse Agw 1 8 2 T9¢ <hIfu | 5

Why does the textile industry occupy an important position in the Indian
economy ? Explain.

T | Wi & feral gi= @i o1 9uig HifSu | Ix5=5

Describe any five benefits of tourism in India.

‘qrifuear veg W URwING T | wRa § g H Rl @R
Rrryanett < sare hifv | 1+4=5

Define the term ‘Secularism’. Explain any four features of secularism in
India.

AThas ohl THEd i H TSI Gall o fohral UId ST ohl IATR HIMT | Ix5=5

AT
g foru Toifaes ol <l et 1 @ 2 fohegl 9i= STl bl ISR hINIE | Ix5=5

Highlight any five functions of political parties to strengthen democracy.

OR
Why do we need political parties ? Highlight any five reasons.

grifed &5 o Tohegl Uie ATHT bl 3BT Hfgd ISR ST | I1x5=5

Highlight any five benefits of organised sector, with examples.

8



wus ¥
SECTION D

26. (A) T AFY ‘@’ FR b T T HRA o TSI W@-AERS (98 11 W), §
3iferd fopu U 8 | 39 g W fm=fafgd S i g8 9 gg=ne
3R 3T TE T 3h g G 78 W@redt W ffgu 1x2=2

(a) 9% TN TET YR TS HIE H1 AREIE g |
(b) 98 TAW Tl S 3 Fell fret WGyl o 94 H Heawg oA |

(B) 3! feq U WRA o TSHideh {@-AH § HEfaiad § 8 gt div

I ITYH FaRl | guiigy 3R Ik a1 fafaw 1x3=3
i) TmEE — A gaTE T

(i) ¥gEdt - g 3 T 93

(iil) Ufead STTET T HiFCATR oISl UTeh

(iv) fegd — iy

(v) <H — 3fvees eI I

(A) Two features ‘@’ and ‘b’ are marked on the given political outline
map of India (on page 11). Identify these features with the help of
the following information and write their correct names on the
lines marked near them :

(a) The place where the Indian National Congress Session was
held.

(b) The place where Gandhiji organized Satyagraha in favour of
cotton mill workers.

(B)  Locate and label any three of the following with appropriate symbols
on the same given political outline map of India :

(i) RajaSansi -  International Airport
(i) Bhadravati -  Iron and Steel Plant
(iii) Software Technology Park of West Bengal
(iv) Tehri — Dam

(v) Kaiga —  Nuclear Power Plant

| 32/5/1 9 P.T.O.
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Fig:  FHECTRET 397 @acl giRaTaa qhgntedel & o/ 397 61 26 & €& T/
&1 fagt g 3941 & 3% il :

Note: The following questions are for the Visually Impaired Candidates

only, in lieu of Q. No. 26. Attempt any five questions :

(26.1) 38 T &1 AW foafgu, et fia St @dt v e fhaE 3 aemE
fopam |

(26.2) 38 TSA &1 AW foaftgu, Sgt et 3 F9e ST I el |

(26.3) 38 USF 1 A fAflgu, &l SAfcraiaran S gehe g3 |

(26.4) 39 TF 1 9 Terfau, a7 Tem |t =i gars ue fodra R |

(26.5) W TS 1 9 fafge, &1 I e 3R 399a 3 ford 2 |

(26.6) W TS 1 9W faflge, &1 70w 3nfveaes St ga fod 2 |
(26.7) UfTaq S o AT SaHTATS UTeh okl A0 AT | 1x5=5

(26.1) Name the State where the Indigo planters organized Satyagraha.
(26.2) Name the State where Gandhiji violated the salt law.

(26.3) Name the State where the Jallianwala Bagh Massacre took
place.

(26.4) Name the State where Raja Sansi International Airport is
located.

(26.5) Name the State where Salem Iron and Steel Plant is located.
(26.6) Name the State where Naraura Nuclear Power Plant is located.
(26.7) Name the Software Technology Park of West Bengal.

aaisi 10
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I3 9. 26 & foiw For question no. 26

WA kT WET-HTA T (TR )
Outline Map of India (Political)
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